ray -\
IDELTA DELT[c],1]=

I“M DATA SHEET ml II%CHNISCHES DATENBLAT I I TEXHWYECKUE KAPTbI ‘“I

B coo-os T N R EN R R A Y IR

1031020002001 20x'/,” M8x40

1031025002001  25%/,” 37 19 80 54 2  M8x40 16

1031025003001  25%%/,” 43 22 80 54 2  M8x40 16

1031032002001  32x'/," 52 24 80 64 4  M8x40 16

1031032003001  32%/,” 46 18 80 64 4  M8x40 16

1031040002001 40X/, 51 17 87 74 4  M8x40 16

PN16 1031040004001  40x1” 60 21 87 74 4  M8x40 16
PNI6 1031050003001  50x%,” 66 26 102 78 4  M8x50 16
SAXUMHOE CEIO C METANTNYECKMM 1031050004001  50x1” 65 24 102 78 4  M8x50 16
KOMbLIOM PN 16 6ap 1031063002001  63x'/,” 70 24 116 88 4  M8x50 16
1031063003001  63x,” 86 23 116 8 4  M8x50 16

1031063004001 ~ 63X1” 58 20 116 8 4  M8x50 16

1031063005001 63x1/,” 70 26 116 88 4  M8x50 16

1031063006001 63x17/,” 63 28 116 8 4  M8x50 16

1031075002001  75X'," 81 25 130 8 4  M8x50 16

1031075003001 75X’/ 81 26 130 88 4  Msx50 16

1031075004001  75x1” 80 26 130 88 4  M8x50 16

1031075005001 75x1%/” 81 26 130 8 4  M8x50 16

1031075006001  75x1/,” 80 26 130 88 4  M8x50 16

1031075007001 752" 84 30 130 88 4  M8x50 16

1031090002001 ~ 90x/; 90 25 150 88 4  M8x50 16

1031090003001  90x/,” 90 27 150 88 4  M8x50 16

1031090004001 ~ 90x1” 90 27 150 8 4  M8x50 16

1031090005001 ~ 90x1'/” 90 24 150 8 4  M8x50 16

1031090006001  90x1,” 90 30 150 88 4  M8x50 16

1031090007001  90x2" 90 29 150 88 4  M8x50 16

1031110002001  110x/,” 100 24 175 107 6  M8x60 16

1031110003001  110x¥/,” 100 27 175 107 6  M8x60 16

1031110004001  110x1” 100 25 175 107 6  M8x60 16

1031110005001 110x1/,” 100 26 175 107 6  M8x60 16

1031110006001 110x1”,” 105 30 175 107 6  M8x60 16

1031110007001  110x2" 105 30 175 107 6  M8x60 16



	Страница 1

